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BT-202 (CBGS)
B.Tech.,I & II Semester
~ Examination, May 2019
‘Choice Based Grading System (CBGS)
| Mathematics - IT

Time: Three Hours | '
Maximum Marks : 70

Note: i) Attempt any five questions.
fepegl gier 9ot BT g1 PR |~
ii) All questions calfy equal marks.
wft At & 37ep qHH &) |
iii)In case of any doubt/0r dispute the English version
question should be treated as final.
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1. a) Solve
A DI
(1+x2)ﬂ+2xy=2cos'x
dx

b) Solve
dy

x2p3+y(1+x2y)p2+y3p=0,where pE—x.

T IR x2p3+y(1+x2y)p2+‘y3p=0,31‘5’\'f p\E%.\

2. a) Solve
g HINRT
dy .dy .dy
13 -3 2+3 x—y=e +2
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Solve

& DI
| 2
dx? dx , :

Solve

gel ISR

(l—xz)%+ x%—y;x(l—xz)

kS
2

+x—=—-—y=

Solve in series the equation (1 + xz) PRI
. ' : , X X

about the point x = 0.

HHIBRT (1+x2)d~‘z+xdy—y=0 Eﬁﬁgx:()%]%m

dx dx
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Form a partial différential equation by eliminating

arbitrary function from z = f (x2 - yz) .

z5=f(x2—y2) I VT B B R Ry aRT
3TTf3Teh BTeThaTT AHIROT BT o7 BIfdwY| |

Solve the following differential equations.

0z ,.az

(xz—yz—zz)p+2xy q=2xZ,Where‘PEa—t,qE$
ﬁwﬁaﬁgﬁw‘mmmﬁwﬁm |
e - 0z 0z
(xz—yz—zz)p+2xy q =2xz, T8l pfaangg
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5. a) Solve .\‘2_,[)2 + yzqz =1, where P Eé_f;’ =£ ~

‘ . Jz 0z
,2 2 2 2 ~ =—, = —
gl DI x“p° + y’q —_1, STal P o q dy

b) Solve the linear partial differential equation

82§ +2 azz + azz — e3x+2y
ox dx dy 9y’ |
IRaep 31D SHaeper FHIDRT DI gl blord |

o oxdy oy’

6. a)  Show that the following function is harmonic ahd find its
harmonic conjugate furnctions '

u =—;—log(x2 + yz)

ERAIFD BupIc Herd | S IR |

1 2. 2
| u—glog(x +y )
b) Determine the analytic function, whose real part is

e (xcos2y—ysin2y).
e Wer d FeRr aRi fSrenr farer ard

e** (xcos2y— ysill.‘?,y) gl
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7. a) Evaluate the following integral using Cauchy-Integral

4-37
formula
J‘z(z—l)(z—Z)

4=%.

PrfRaa e B el THIe T3 gRT 11 S

dx, where C is fhé circle

j( -3z dx, ST C e |7 = 34 &

cz(z=1)(z-2) P
2r dO
b) Evaluate | ———— for thecircle 7| = 1.
0 2+4cosé
| 2z
fo 2+COS€ BT I |¢] = 1 R T SRR

8. a) If F=3xyi—y®J,evaluate IF -dr , where C is the arc
of the parabola y- L Dx2 fromcéO, 0) to (1, 2).
R F=3xic)?) & a@sia SRR [F-dF SR C,
| C
q?aa?Iy;:zxza%r TP A9 (0, 0) F (1, 2) 9 2l
b) Evaluate ”A -fids  where A = (x+ y?')f— 2xf+2yzk:
| S

and S is the surface of plane 2x + y + 2z = 6 in the first
octant.

A IR jIA-ﬁds, STET Az(x+yz)f—2.1;7+2yzl€
S
Td S, @A 2x +y + 2z = 6 BT TAT AEHT § IS |
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